SA: BH3S
I ZHIS AYIL(YLUSSHF/LHE)
ool HH3S e (Etel:&e)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
EH3= 485,938 475,067 10,871
SHIS AP (LUBTHE/LpEE) 372,948 366,330 6,618
£33 el 120,448 113,830 6,618
HArzel 7,000 7,000 0
201 Ye2 Y| 7,000 7,000 0
02 BZ22H| 7,000 7,000 0
oAEgNTY 1,500,0008 * 14! 1,500
OXt 2 s Al 2,000,008 * 14} 2,000
OHUYELE MBB RNZ4H|
500,0008 * 1CH 500
OYLred| 2 JHl KXl
150,008 * 205 3,000
22 sz 5,178 4,380 798
101 @1 24| 2,199 2,100 99
04 JIAHIERNS S 2,199 2,100 99
OB &3S ot ol
6,640 * 1% » 60 2,199
206 M 2t 2,979 2,280 699
VL 2,979 2,280 699
OFH3S slHYE S0 2,979
s 1,8602 * 200 ¢ 372
-3 8 1,6902 * 300 507
— SR 3,502 * 600 ¢ 2,100
2ots gz 5,880 5,520 360
201 2ere | 5,880 5,520 360
02 BB=2H| 5,880 5,520 360
OBOHS eldl 50,0008 * 2945 * 40/100 5,880
=ZEZAS ALY 16,060 10,600 5,460
101 @1 24| 10,260 9,800 460
04 JIAHIERS S 10,260 9,800 460
OZ2% L MY =D o=
36,6409 * 2 * 202 * 33| 4,397
ORETASIAIY Q19
36,6409 * 102 * 102 3,664
OAIJIX 212 HHl o=y
36,6408 * 2% * 302 2,199
206 M Z Hl 5,800 800 5,000
01 X2 5,800 800 5,000
OJzs=z o stz 600
—YEH YHY 7Y 10,0008 * 105 100
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A BH3S
B RIS AYT(LUBBUT/YuHE)
el R3S 2 el
l:‘}\_l X ZH C|—O|(§Ij:”) }\-“C‘}\I.O'l HASX2 Al OH I|_-|L|;=|_l‘:_ ot
. T ° - = (L] 0:”{:'_% (=]
—&H ¥ "z 2 5000& » 10£ * 23] 100
—==-¢ 20,000& * 15& 300
—JIE "eET S 7o
5,000& * 5& * 43 100
ONMEMY 2224 & 2 200
—&ldl ¥ HZ2 2&  10,000& * 10&Z * 23] 200
OSBIS SMUAS CHEM BUS ATHAIL
10,000& * 500 5,000
QXX D183t 86,330 86,330 0
301 etz azd 86,330 86,330 0
06S-cl-tEaEsEds 82,190 82,190 0
Os8=¢ 75,440
—Jlg=¢ 200,000& * 23" = 12& 55,200
—&03 200,000& * 23 * 200% 9,200
—sloB ALY
20,0003 * 239" * 128 * 23l 11,040
Ogt&E=¢ 50,000 * 135% 6,750
10 HAAHIE &2 4,140 4,140 0
OXNggdgolzs 212 44X s4
5,000& » 69H = 123 4,140
A2 FRIHAANS 252,500 252,500 0
A8 FEIES ALY 252,500 252,500 0
401 A& HIZ 20| 252,500 252,500 0
01 Al£Hl 250,000 250,000 0
OLAE FRHEAAS 250,000,000& * 14 250,000
03 AI& 2 0HHI 2,500 2,500 0
OLAL FEHAAY ALFUH
250,000,000& = 1/100 2,500
HY2HHHI(FH3S)(IIEH/IIE) 112,990 108,737 4,253
QA2 A 31,408 28,993 2,415
ol 2| 31,408 28,993 2,415
101 @124 | 31,408 28,993 2,415
01 2= 31,408 28,993 2,415
OAZIZ 2+
8,078 » 9% » 36AI2t » 123 31,408
Jl2&Hl 81,582 79,744 1,838
Jl=2&H| 81,582 79,744 1,838
201 ZEt2FH| 39,672 37,834 1,838
01 AR 2teld| 23,044 21,854 1,190
OSAESX 72l 13,000& * 9 A « 128 1,404
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2AM: 5838
A HN2AHUI(FAI3S)(IIEH/IIE
S 2| (&9 HM
- _ _ poE N
2N -3 - c2(3H) - NEME - HES 0] AFCH 'Oﬁ/'\ja'g Hns
OEZ20H&H| 5,000 * 34! = 9H * 128 1,620
Ogdtx25 100,000& * 12&8 1,200
OAR2 EAFYHI 50,000& * 12& 600
ogaa=Y 13,300
—=% 30,0008 = 198 = 250 7,500
—2X 50,000& * 1H = 116 5,800
OAREL=HH| 4,380
—=2AJ] 42l 500,000& * 1CH 500
-T2y £l 100,0002 * 2CH = 50/100 100
—=2AD| EY 200,000& * 104 = 53] 1,000
—T2IHII(EY) EY
200,000 * 2CH * 53 2,000
—PC==2l 100,000& * 9CH * 20/100 180
—JI|Et &Edl=2l 50,0008 * 12& 600
OJIEF AFR2t2IH] 5,000& * 99 = 12& 540
02 E3=2gH| 16,628 15,980 648
o332 % HA 16,628
—REZ 150,000& * 12& 1,800
—-&Je2 1,000,000& = 12& 12,000
— Aol ER22 70,0008 * 12& 840
— &I EH T 100,000 * 12& 1,200
—HAIEHIN RS2 30,0008 * 23| 60
— 83 THA 200,000 * 13| 200
—SAUS AEZ 9,000& * 12& 108
—CCTVEDIIRZ2 5,000& ~ 701 = 12& 420
202 oid| 30,150 30, 150 0
01 2LHo I 3,150 3,150 0
OF&3s RF& LA LI
70,000& * 99 = 5 3,150
02 XN 27,000 27,000 0
Os&3s M FEHAHI
250,000& + 9 = 12& 27,000
203 R F=&| 9,960 9,960 0
01 I 2L RFAH| 6,600 6,600 0
OsS& JIA2HIYR=&Hl 6,600,000& = 1H 6,600
02 IR =AY 360 360 0
OF NP RFEH| 40,0003 = 9 360
04 FENSIEIRFAH| 3,000 3,000 0
ORNSIEIRFXIHI 250,000& * 12&8 3,000
204 X R HZFH| 1,800 1,800 0
01 AHZERHFH| 1,800 1,800 0
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